			-		\$103.97
Burden item	(A) Person- hours per occurrence	(B) No. of occurrences per respondent per year	(C) Person-hours per respondent per year (C=AxB)	(D) Respondents per year <sup>a</sup>	(E) Technical person- hours per year (E=CxD)
1. Applications	N/A				
2. Survey and Studies	N/A				
3. Reporting Requirements					
A. Familiarization with the regulatory requirements $^{\circ}$	0.87	1	0.87	42	36.54
B. Required activities					
Initial performance test	52.17	1	52.17	1	52.17
Repeat performance test <sup>a</sup>	52.17	1	52.17	0.2	10.43
C. Create information		•		See 3b	
D. Gather existing information				See 3e	
E. Write report					
Notification of construction/reconstruction	1.74	1	1.74	1	1.74
Notification of actual startup	1.74	1	1.74	1	1.74
Notification of initial performance test	1.74	1	1.74	1	1.74
Report of performance test				See 3b	
Excess emission reports					
VOC emission reports <sup>e</sup>	4.35	2	8.7	42	365.4
Temperature reports <sup>f</sup>	3.48	2	6.96	33.6	233.856
Subtotal for Reporting Requirements					
4. Recordkeeping Requirements					
A. Familiarization with the regulatory requirements		•	•	See 3a	
B. Plan activities				See 4c	
C. Implement activities				See 3b	
Monthly performance test <sup>g</sup>	0.87	12	10.44	42	438.48
D. Develop record system	N/A				
D. Develop record system	N/A				
E. Time to enter information					
Records of operating parameters <sup>h</sup>	0.22	250	55	42	2,310
F. Train personnel	N/A				
G. Audits	N/A				
Subtotal for Recordkeeping Requirements					
TOTAL LABOR BURDEN AND COST (rounded) <sup>i</sup>					
Capital and O&M Cost (see Section 6(b)(iii)): <sup>i</sup>					
TOTAL COST: <sup>1</sup>					

## **Assumptions:**

<sup>a</sup> We have assumed that the average number of respondents potentially subject to this rule is 42. There will be one addition

<sup>b</sup> This ICR uses the following labor rates: \$129.93 per hour for Executive, Administrative, and Managerial labor; \$103.97 per hour for Clerical labor. These rates are from the United States Department of Labor, Bureau of Labor Statistics, June 2 <sup>c</sup> We have assumed that it will take 0.87 hours for new respondent to read instructions.

<sup>d</sup> We have assumed that 20 percent will have to repeat performance tests because of failure.

<sup>e</sup> We have assumed that each source submits one excess emission report every year, in addition to the required semiannual

<sup>f</sup> We have assumed that 80 percent of sources will use incineration to control emissions.

<sup>g</sup> We assume that each respondent will take 0.87 hours once per month to record performance test.

<sup>h</sup> We assume that each respondent will take 0.22 hours 250 time per year to record operating parameters.

<sup>i</sup>Totals have been rounded to 3 significant figures. Figures may not add exactly due to rounding.

\$129.93	\$51.79			
(F) Manageme nt person- hours per year (Ex0.05)	(G) Clerical person- hours per year (Ex0.1)	(H) Total costs per Year <sup>b</sup>		
1.83	3.65	\$4,225.69		
2.61	5.22	\$6,033.23		
0.52	1.04	\$1,206.65		
0.09	0.17	\$201.22		
0.09	0.17	\$201.22		
0.09	0.17	\$201.22		
18.27	36.54	\$42,256.87		
11.69	23.39	\$27,044.39		
809		\$81,370.49		
21.024	42.040	¢50,700,24		
21.924	43.848	\$50,708.24		
115.5	231	\$267,141.11		
3,161		\$317,849.34		
3,970		\$399,000		
		\$82,600		
		\$482,000		

26 hr/resp\*

nal new source over the three-year period of this ICR.

per hour for Technical labor, and \$51.79

!014, Table 2. Civilian Workers, by occupational and industry group. The rates are from column 1, Total compensati

report.

ion. The rates have been increased by 110 percent to account for the benefit packages available to those employed by private

industry.

					46.67
Activity	(A) EPA person- hours per occurrenc e	(B) No. of occurrenc es per plant per year	(C) EPA person- hours per plant per year (C=AxB)	(D) Plants per Year ª	(E) Technical person- hours per year (E=CxD)
New facility					
Initial performance test	20.87	1	20.87	1	20.87
Repeat performance test/observed	20.87	1	20.87	0.2	4.17
Review reports <sup>c</sup>					
Notification of construction	1.74	1	1.74	1	1.74
Notification of initial startup	0.43	1	0.43	1	0.43
Notification of actual startup	0.43	1	0.43	1	0.43
Notification of initial performance test	0.43	1	0.43	1	0.43
Review test results	6.96	1	6.96	1	6.96
Existing Plant					
VOC emission reports <sup>d</sup>	1.74	2	3.48	42	146.16
Temperature reports <sup>e, f</sup>	1.74	2	3.48	33.6	116.93
TOTAL ANNUAL BURDEN AND COST (rounded)	ġ				

## Assumptions:

<sup>a</sup> We have assumed that the average number of respondents potentially subject to this rule is 42. There will be one addit

<sup>b</sup> Labor rates for Federal agency personnel were applied to State/Local agencies, and are based on the average hourly lał Managerial \$62.90 (GS-13, Step 5, \$39.31 + 60%); and Clerical \$25.25 (GS-6, Step 3, \$15.78 + 60%). This ICR assum Managerial hours are 5 percent of Technical hours, and Clerical hours are 10 percent of Technical hours. These rates ar which excludes locality rates of pay. The rates have been applied to local agencies and have been increased by 60 perce available to government employees.

<sup>c</sup> We assume that each of the new facility will have to review reports

<sup>d</sup> We assume that each source submits one excess emission report every year, in addition to the required semiannual repo

<sup>e</sup> We assume that 80 percent of sources use incineration.

 $^{\rm f}\,$  We assume that temperature reports are conducted two times per year.

<sup>g</sup> Totals have been rounded to 3 significant figures. Figures may not add exactly due to rounding.

-(E) 62.9	25.25	
(F) Managem ent person- hours per year (Ex0.05)	(G) Clerical person- hours per year (Ex0.1)	(H) Total Cost, \$ ⁵
1.04	2.09	\$1,092.34
0.21	0.42	\$218.47
0.09	0.17	\$91.07
0.02	0.04	\$22.51
0.02	0.04	\$22.51
0.02	0.04	\$22.51
0.35	0.70	\$364.29
7.31	14.62	\$7,650.01
5.85	11.69	\$6,120.01
343		\$15,600

tional new source over the three-year period of this ICR.

oor rate as follows: Technical \$46.67 (GS-12, Step 1, \$29.17 + 60%);

es that

e from the OPM, 2016 General Schedule,

ent to account for the benefit packages

ort.